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1. EXFEIRA
[DEF-TI'PN 0
EFEESERA 750,000 750,000 0
(2) EXIRA
EERENIRFHCHEHIRA 3,000,000 3,400,000 A 400,000
BEEERIRTF A 1,600,000 1,163,000 437,000
E=HRMNEFHFRA 23,000,000 25,300,000 A 2,300,000
IR ENZEALEURF HEHIRA 9,400,000 9,100,000 300,000
= FEBZEFEEIURA 23,500,000 23,500,000 0
SESEERIRA 8,500,000 8,500,000 0
(3) #UA
SZEVH BEURA 5,000 10,000 A 5,000
HUINA 1,100,000 1,100,000 0
EEEHRAG 70,855,000 72,823,000 A 1,968,000
2. EXFHXH
W) EXETH
WHAFLZH 31,000,000 33,200,000 A 2,200,000
EBEXH 0 360,000 A 360,000
EERAEXH 5,950,000 6,300,000 A 350,000
EFEEETH 260,000 260,000 0
HEEXHEEE T 3,300,000 1,500,000 1,800,000
TR I ESIH 450,000 450,000 0
SN EXH 100,000 100,000 0
SEEXH 30,000 30,000 0
REXRBEXZH 40,000 40,000 0
BIEEREXH 550,000 550,000 0
EHEABREEXE 100,000 150,000 A 50,000
HEREXH 240,000 240,000 0
BEEXR 580,000 780,000 A 200,000
HRERERZH 800,000 700,000 100,000
FRENEE 100,000 100,000 0
HlRExXE 160,000 70,000 90,000
*__H T veem | nEErae & EES
SESEEXH 900,000 1,100,000 A 200,000
AR 1,000,000 1,120,000 A 120,000
KERERZE 200,000 200,000 0
HR AR H 7,140,000 7,240,000 A 100,000
BHEXTH 420,000 420,000 0
X H 200,000 200,000 0
2 EHETH
% B3RP H 4,800,000 4,800,000 0
HWAFLZH 5,500,000 5,300,000 200,000
EERAEXH 850,000 820,000 30,000
BRIEEEXH 40,000 40,000 0
SEEXH 470,000 70,000 400,000
REXBEXZH 360,000 260,000 100,000
BIEEREXZH 100,000 100,000 0
HEMEXH 60,000 60,000 0
BEEXH 120,000 120,000 0
RIS AR E X H 50,000 50,000 0
HmEXH 90,000 30,000 60,000
SEEHERH 400,000 450,000 A 50,000
SEHH 400,000 480,000 A 80,000




HEaEXH 550,000 550,000 0
R AEZH 60,000 60,000 0
I H 100,000 100,000 0
(4) FDHZH
EANBC-ERBRRUVEER 1,300,000 1,300,000 0
EE 3T Bk 68,770,000 69,700,000 A 930,000
B ; 2,085,000 3,123,000] A 1,038,000
T 358 &M% D) &b
1. R EHIA
&ﬁ%ﬁﬂl)\ + 0 0 0
2. BEESRH
M BEEERSXZH
B E5| BEERSZH 1,540,500 1,307,400 233,100
BUMIEEN S| =& E RS X & 0 1,000,000 A 1,000,000
BE aa X thaT 1,540,500 2,307,400 7 766,900
; A 1,540,500 A 2,307,400 766,900
(T B 95 B X D &b
1. A& BIA
Wmu)\,ﬁr 0 0 0
(2 B EDx
ﬁ%ﬁ%&tﬂﬁ 0 0 0
; 0 0 0
N Fleaxt
] 544,500 815,600 A 271,100
ik T 186,769,750 182,029,764 3,839,986
RIREIRIN X = 28 187,314,250 183,745,364 3,568,886
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